Cetka(1,1) / CrtpaHuua 1 3 24 /



CTpanvua 2 n3 24




[Tos1oUKa




j\]CeTKa (1,4)

CTpaHmuayo3/24




LCETK3(1,5)

Ctpanuvua 5 n3 24




LCETKB (1,6) Ctpanvua 6 13 24



Cetka(2,1) CTpanvua 7 n3 24




j\]CeTKa(Z, 2)

Ctpanuua 8 n3 24




LCeTKa(Z,Z%)

CTpanuua 9 n3 24




(woguid 0d) exoul

LCeTKa (2,4)

Crpanuua 10 u3 24



ULrAN

LCETKB (2,5)

Crpanuua 11 u3 24




LCETKB (2,6) Crpanvua 12 u3 24



o6Tauka cnuHkM (

Cetka(3,1) Crpanvua 13 u3 24



1 (co crnbom)

WOG 4 WOG

LCETKB (3,2)

Crpanvua 14 u3 24




LCeTKa(3,3)

Crpanuua 15 u3 24




LCQ\Ka (3,4) CTpanvua 16 us 24 \ //”/



Cetka(3,5) C vua 17 u3 24




j\]CeTKa (3,6) Ctpanuua 18 us 24 >



Cetka(4,1) Crpanuua 19 u3 24




LCETKa (4,2)

Crpanuua 20 u3 24




LCeTKa(4,3)

Crpanuua 21 u3 24




Cetka(4,4) CTpaHuua 22 u3 24




LCeTKaH,S)

Crpanuua 23 u3 24




j\]CeTKa (4,6) Crpanuua 24 u3 24



